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PART-I

General Studies AT 3Teq9q

1. For separating cream from milk which L gg @ shi Fehrer 3 shi |1 el T 22
force is bei lied?

IS (?mg applied A S S
A. Centrifugal Force
B. Centripetal Force B. ELRN
C. Gravitational Force C. Tecesd
D. External Force D. s«

2. To cancel the veto of President on a hill, 2. fordt foreraen ox Trsefer o fAmefereRr
which majority is required of each ﬁww%mmwﬁw
house? S 2 =
A. Majority of the then members A. TCHEHT et 1 aEEd
B. Simple majority B. HINUT SEHd
C. Absolute majority C. g a=ag
D. 2/3 majority D. 2/3 &gHd

3. According to the FIH World Rankings, 3. FIH 9€ (T o TEI ST 2022 | WA
what is the rank of Indian men’s hockey Y Beh A T i T 82
team in June 2022? °
A. Third A
B. Second B. g8
C. Fourth C. e
D. None of the above D. ST H U HI3 &

4. Which of these countries constitute 4. g ok fafi= o8 el st et 57% o9
approximately 57% of the various large 511 g |
dams in the world? s
A. Brazil and India A Hnd
B. Japan and India B. ST 3T HRq
C. Chinaand India C. = 3R 9wa
D. Brazil and China D. s 3R T
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Which one of the following pair is not
correctly matched?

A. Jamnalal Bajaj — Satyagraha
Ashram Wardha

B. Dadabhai Naoroji — Bombay
Association

C. Lala Lajpat Rai — National School
Lahore

D. Bal Gangadhar Tilak —
Satyashodhak Sabha

Which of these gases is not permitted to
be released by the prevention and
Control of Pollution Act by the Indian
Government?

A. Sulphur Dioxide
B. Carbon Monoxide
C. Nitrogen Oxide
D. All of the above

Swadeshi Movement was started-

A. As a protest against the partition of
Bengal

B. To encourage consumption of
Indian goods

C. Protest against the killing of Indians
in Jallianwala Bagh

D. Reasons for the failure of the British
government to form a responsible
government in India

F I SISt gafad T&1 82
A. STHATATA SISITST — HATIE 3112 et

B. TS NS - oFers TEfiueH

C. AT frevd T — AR Tohed cdlelt

D. T TTeR foieteh — Scasiverss aT

S o T =hT I HThT ZIT g0
framor s femsor srferfaem g seafsia
T T TR T 82

A, GTH SEATHEE
B. e AHIATTES
C. FTEIISH ATHTES
D. IR adl

el SATaIe & forar o
A. §T fove & g F sa 8

B. W HIA o ITHNT hl TcaTied s
& fag

C. SIfAaiaTet o § YR hl g &
fotra o

D. WA ¥ Ueh SALErE Geh a1 Tkl T
forfee awerr Y T awetdr o Hror
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8. ‘Eat, Drink and Be Merry’ is the ethical 8. @, Tt SR gt e forwrent Aftran

motto of- 3Test ATy 82
A. Jainism A. ST ed
B. Charvaka B. =&
C. Buddhism C. oteg o
D. Yoga D. &

9. If interest payment is added with 9. e yrerfireh =TS H SATST VT i IMHSA
primary deficit, it will become- foran Se, r Te e BT @
A. Budget deficit A. IS HEH
B. Fiscal deficit B. TSN o1 &

C. Financial system of deficit C. =1 hl fod e &
D. Revenue loss D. AT =R &

10.  In which IIT institute Param Anant 10. Ty gueahe e TR o ded fohe Tt
Supercomputer has been commissioned Trenfish T § W 31 d GUEhel Iet
under National Supercomputing S R
Mission?

A. IIT Delhi A. 3% T & et
B. IIT Madras B. 3¢ 1S 21 FEr
C. T Gandhinagar C. 3T 3E A MefTR
D. IT Mumbai D. TS 318 & =g

11. " Which was the most famous area of 11, et s | i Scare 1 ed Tihes
indigo production in the Mughal a7 9T-
Empire?

A. Lahore A TR
B. Malwa B. Hc
C. Gujarat C. T
D. Bayana D. s

SPACE FOR ROUGH WORK / T% hTd o [T S8

20202102-YAV-REC-VNW-M 5 Set-A



12.

13.

14.

15.

The main objective of the first five year
plan of India was-

A. Development of Ports

w

Development of Infrastructure
C. Development of Industries

D. Development of Agriculture

What is / are the similarity / similarities
between a Judge of Supreme Court and
Comptroller and Auditor General?

(i) Appointment

(ii) Salary

(iii) Removal

(iv) Tenure

A. (i)

B. (i) (ii)

C. (i) (i) (iii)
D. (i) (ii) (iii) (iv)

What was Tilak’s reaction to the “Age
Consent Act” of 18917

A. Full support

w

Partial support
C. Complete opposition

D. Neutrality

Vaisesika sutras were written by which
Sage?

A. Kapila
B. Sankara
C. Kanada
D. None of these

12.

13.

14.

15.

R 2l o Terai AT 1 & 363
oT-

A. FETTRI T foshrd

B. ATk G o foehme
C. =i 1 fowme

D. &Y o foshe

HaTee AT o =TT 37 e
TRTAETIeTsh T T THTT / GHHATS 27
(i) Fafe

(i) a7

(iii) Te=gld

(iv) FEHTA

A. (i)

B. (i) (ii)

C. (i) (i) (iii)

D. (i) (ii) (iii) (iv)

1891 o “31g wemfd sfaf=m & ufd fae
St 3t R gfefsra oft?

A. T Emel

B. 3Tif3tek awelq

C. Ui forig

D. dewr@r
ENIECERE R LRI CRIUBY
A. iU

B. Rt

C. &g

D. &0 & &IS Tl
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16. Astika Darsana believes in what? 16.  srficent gui4 forad forama svtar 22
A. Authority of Vedas A. 98I T ITRER
B. Authority of Gods B. Ioarel & ATUHR
C. Authority of Karma C. H ol JAfTRR
D. None of these D. 378 ¥ s el
17. Which is unmatched in the context of 17. @a ot BERAdT o HaH | w1 gHfeTd Tel 82
membership of the house?
A. Speaker of House of the people A. TR ST
B. Speaker of State Legislative B. TSH fauma e
Assembly
C. Chairman of Council of State C.. T 1 ETfe
D. Chairman of State Legislative D. TS faremuitse s awmdia
Council
18. Tr(l;e statement about Reserve Bank of 18. 9 fstd Sk o oI H | oM &-
India is-
A. It was established in 1835 A TR T 1835 g8 0
B. Government of India Nationalised it B. WWWWWH
on 1949 1949 ¥ foram 72 ol
C. Itdoes general Banking business C. € UTHT SR SHeET ohidT 2
D. Itis aissuing agency of one rupees D. 8 U €9 % Ryaehi 1 farfy woreet 2
coin
19. Which political organization / party did 19.  form THIfes Tt / ATl 3 WTEHA Sy
not boycott the Simon Commission? 1 afeshrr 7 fomame
A. Hindu Mahasabha A. feg memas
B. Muslim League B. Eﬁ;,m;ﬁq
C. Punjab Unionist C e A
D. Indian Congress D. W;_raq
SPACE FOR ROUGH WORK / T hTd o TeTdl ST
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20. Rate of Interest below which scheduled
commercial bank do not give debt-

A. Base Rate
B. Reverse Repo Rate
C. Repo Rate

D. Bank Rate

21. Which one of the following states of
India records the lowest density of
population according to 2011 census?

A. Arunachal Pradesh
B. Meghalaya
C. Tripura

D. Manipur

22.  On which occasion the both houses of
State Legislature Assembled together?

(i) At the commencement of the first
session after each general election
of Legislative Assembly

(ii) At the commencement of the first
session of each year of State
Legislature

(iii) To consider on a bill if there is
differences between two houses

(iv) To consider on a amendment bill if
there is differences between two
houses

(i)

(i) (i)

(i) (ii) (iii)

(i) (i) (iii) (iv)

OO0 w»

20.

21.

22.

8 TSl & S8 A SgEiiaes
ST Sieh 37T UTEehI h! 1S AT Tl
3, THEATIT -

A TEH

B. Wicard 1l &X

C. W«

D. d& &

T o (HARgd Tsal § 8 i 971 75T

2011 31 SIIUMT o STHR el FH
ST B @St hEa 22

A. STEUTE JeTT
B. HEH

C

D. #TR

D

e 3TaE W U= forammvee & M wed

AT 434 &7

(i) Toram @1 o ST AT o 918 goH
AT o STTE T

(i) TT foremmves & Yeish a9 & Jod
AT o ITTE T

(iii) afe foret frerer W ST Teat J Havle
Bl 36 W foem & & fofg

(iv) Toret demer faeges WAt g |

HI¥E B a1 39 W =R o & fog

@)

(@) (i)

(i) (ii) (iii)

(1) (ii) (iii) (iv)

o o w >
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23. Which country topped the Medal tally
in IBA Women’s World Boxing
Championships 2022?

A. Turkey
B. Iran
C. Russia
D

. None of the above

24. Which campaign of Chhattisgarh Police
is not awarded by Federation of Indian
Chambers of Commerce & Industry
(FICCI) during the year 2022?

A. Samvedana Abhiyan

o

Samarpan Abhiyan
Abhivyakti Abhiyan
Cyber Mitan Abhiyan

O O

25. “Triratnas’ are related to-
A. Jainism
B. Buddhism
C. Jainism and Buddhism both
D.

None of these

26.  Virus are-
A. Living
B. Non-Living

C. Transitional group between living
and non-living

D. Living who lost their ability of
multiplication

23.

24.

25.

26.

HATSST AT forg Fareparrst SRR
2022 T Ueeh drfetert § shi9 9T 337 3y 9T 292

A TH
B.
C. &4
D. SRt H ¥ FI8 T

a9 2022 H BeETG qfore o T Al
! TR AU Ue ST W (ftherhl)
QRS LR NCRIRIRIV

A. ToET SRR

B. dwdur IR

C. Afireafth sIfmm
D. @TEeR firam st
et foreer weiferg &2
A. S oH

B. dteg ey

C. SH e 31X siteg o ST
D. & & 1S el
fereroy w ST &-

A. Fsfia vared

B. frsfia wared

C. ooiig 3R fisflar & sftwr v grstivme
el

D

D. asfiar St o B i o
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217.

28.

29.

30.

What is the meaning of balanced

budget?

I) A budget in which gross public
expenditure is equal to gross income
(Revenue receipts).

I1) A budget in which Revenue loss is
zero.

Statement | is correct.
Statement Il is correct.
Both the statements are correct.

o0 ® >

Both the statements are wrong.

Who won the men’s singles title at
French Open 20227

A. Novak Djokovic
B. Rafael Nadal
C. Roger Federer
D. Rod Laver

In relation to arms which Bore is
prohibited for use by common people in
India?

A. 12 bore

B. 0.32 bore
C. 0.38 bore
D. 315 bore

Asatkaryavada is the causation theory
of-

A. Nyaya

B. Jainism
C. Vedanta
D. Samkhya

217.

28.

29.

30.

FITA STe | T AR 87

1) o ssie T Hehel HTEST-eh & =9
3k HoheT AT (TS TTTHRAT) o STei
B 2l

1) 37T foreft sTe T TSTEd SITeT 3 &
A. FIT1EER

B. %Y IIEE R

C. T e Tl &

D. EHI % TeAd 2|

Sl SO 2022 H I8 T 1 Raars
fore Sffam?

A. TETe Strehifaa

B. Thd IS

C. UK %S

D. {eaat

ST o aieT H I T S AT TR %
ST SR % fordr ferifra 29

A. 12 bore

B. 0.32bore
C. 0.38 bore
D. 315 bore

SIS fehwrehT HTl-shRuT fireaid 82
A. =T

B. SH ¥
C. 9gia
D. "™
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31. Satellites of which country were sent to

32.

33.

the space by ISRO’s PSLV-C53
mission?

A. Singapore
B. Bangladesh
C. SriLanka

D. Myanmar

Which one of the following is not
usually considered an indicator of social
well-being?

A. Infant mortality
B. Female literacy
C. Availability of potable water

D. Crime

Munda tribe belongs to which racial
group?

A. Negrito
B. Proto-Australoids
C. Mongoloid

D. Nordics

31.

32.

33.

WL 3T STTEHT G138 g

ot wa.wer -, 53 e gr R gwr o
SUTET o ST HSIT 7T 972

A. TR

B. SicQT

C. Hiciem

D. HUR

frefofiad o & fordt STHAR W ATt
SHe 0T T Geieh el HIAT ST 8?

A RRIFI R
B. Hfgel wear

C. 9 I it bt Suctsuar

D. 39y

T[T SIS fohel & o HWE § Ewali=ad 87
A. AfiEr

B. Wel-sifedaised

C. WdrEs

D. diféam
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34. If any question arises as to whether a 34, afg a5 w3t 2 fof U= famr v
member of State Legislative Assembly IS TEET STATIAT O I<h & 7 8, O =T
has become subject to any of the . >
disqualification, what will happen? |

A. The speaker will decide about his A, STTET AT FaT T HEEIA F T o

membership of the house frroter et

B. The house will decide by 2/3 B. §&T 2/3 SgHA ¥ U T o HeeIa
majority about his membership of F grsier 1 ot o
the house

C. The G 1| decide about i C. TSIUI 3Gh! Ha shl GSEIdT o Grse
. e Governor wi eclde apout niIs l}{ﬁ f aTlT

membership of the house

D. TSI e SR o HAT{ER

D. The Governor will decide with the

opinion of Election Commission 3G T T HewdT o ware | ol
about his membership of the house Ll
35.  The first linguistic survey of India was 35. W T USAT WTHTS Teiequr fohereh gIRT

conducted by ---- st feram i em?

A. Barber A. TR

B. Emeneau B. @:q\

C. Grierson C. fimds

D. Khubchandan D. @d=sed

O
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36.

37.

38.

39.

PART-II
General Knowledge of State

Since when has been “Godhan Nyay 36.

Yojana” implemented in Chhattisgarh?
A. 21 June 2020

B. 21 July 2020

C. 21 August 2020

D. 21 September 2020

Who is the owner of Dalli-Rajhara iron 37.

ore regions?
A. RMML-MSPL
B. SAIL

C. National Mineral Development
Corporation, Ltd (NMDC)

D. Bhilai Steel Plant

When was the program started “Tuhar 38.

Paudha Tuhar Dwar”?
A. 1July 2022

B. 11 July 2022

C. 10 July 2022

D. 21 July 2022

How many members out of the total 39.

members are required for completing
the quorum of the Gram Sabha?

A. 1/2 members
B. 1/3 members
C. 1/5 members
D. 1/10 members

WSY hl ATATA AT

UGG H TN =R AT Hel & AT b

TS 22

A. 215 2020

B. 21 3@ 2020

C. 21 3T 2020

D. 21 faawst 2020

S 1-TSTEX] AIE STIEeh &5 ol Hifeteh hid

37

A. ITHTHTHIA-THTESTA

B. o

C. T wfet faepm fom, fafiee
(TTemErH)

D. fyers s&uma wd=

“ET T TeX S FHRISHH T TR el
g3

1 [T 2022

11 S[T$ 2022

10 S[TS 2022

21 S[@TE 2022

O o w >

B. 139X
C. /595
D. 1/10 9s&x
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40.

41.

42.

43.

Chinese Media had called the Naxalbari
Movement as-

A. Spring Thunder

B. People Movement
C. Hero Movement
D

. None of these

Which of the following is not correctly
matched?

1) Meriya Revolt — Hidma Manjhi

2) Tarapur Revolt — Dalganjan Singh
3) Lingagiri Revolt — Nangul Dorala
4) Muriya Revolt — Jhada Siraha

A. land2
B. land4
C. Only1
D. Only 3

The folk dance on Heroism of
Chhattisgarh which is also known as
Lok Ballet is-

A. Reela
B. Gaura
C. Pandwani
D. Bilma

Which of the following district is part of
Narmada Basin?

A. Rajnandgaon

w

Raipur
Korba

© O

Bastar

40.

41.

42.

43.

<t ferfean = TeaetsTS! STiare i o
oT-

A. JEd dT

B. e IAfgre
C. & AideH

D. 8 ¥ &IE TEl

frfafaa & # gafaa w& &2
1) #fe ot — fegw wish
2) AR ferse — aeior g
3) fofmirdt fersle — At Srar
4) i forsis — gireT et
A 132

B. 194
C. &ad 1
D. %dad 3

SAETE i TS W AT &k I
S ek siet o I & ot ST ST 2-

A. e
B. TR
C. dsamt
D. foem

freferiga & & i | fSier er sfee s
e 2?

A. TSRS
B. TAWR

pe)

C. I
D. &R
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44,

45.

46.

47.

48.

The wildlife sanctuary in Mahasamund
District of Chhattisgarh is-

A. Udanti Wildlife Sanctuary

B. Barnawapara Wildlife Sanctuary
C. Sitanagi Wildlife Sanctuary

D. Indravati Wildlife Sanctuary

Which is an earth-fill embankment
dam?

A. Minimata Hasdeo Bango
B. Kherkatta Reservoir

C. Mongra Barrage

D. Murrum Silli Dam

Salwa Judum started in which year?
A. 2001
B. 1998
C. 2003

D. None of these

Who is the minister of “Urban
Administration and Development and
Labour” Department of the State?

A. Shri Guru Rudra Kumar

B. Dr. Shivkumar Dahariya

C. Shri Umesh Patel

D. Shri Amarjeet Singh Bhagat

Who is the author of “Subah Ki Talash”
(Novel)?

A. Dr. Narendra Dev Varma
B. Pardeshi Ram Varma

C. Devi Prasad Varma

D. Vinod Kumar Varma

44,

45.

46.

47.

48.

BTG o HETEHS STt H b €T ISl
AR B2

A. 3l ISl STy
B. SHATYRI S=ISie IR
C. Hiammil S=sila v aney
D. ISTadl a-asiia AR

firg) & s Fesier sier i AT 27
A. forfiorar ggea s

B. W{HET TaRE

C. W=y

D. 7 foeit 2w

FAT g foh [EAT foher a1 52
A. 2001

B. 1998

C. 2003

D. 378 @ s Tt

39 TS & “TRIT Ie 3R ok v o
forsrmr o Tt 1T 22

A. T TTe B AR
B. . RragHr sefan
C. #fisuwruead
D. i s/ fig wa

g hl TR (ST-T) FoRereht T 292
A. . AEE T aHt

B. waeft Tm mt

C. oot yurg amt

D. forfie Fam aw
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49.

50.

51.

52.

What is the percentage of forested land
in Chhattisgarh?

A. 35.01%
B. 38.01%
C. 4421%
D. 43.85%

Naxalism is inspired by the ideology of
which of the following persons?

A. Marx

B. Lenin

C. Mao-Tse-Tung

D. All of the above

Which Kalchuri ruler did not rule from
Tumman in Chhattisgarh?

A. Kalinga Raj

B. Kamal Raj

C. Prithvi Dev First

D. Ratna Dev First

A border state of Chhattisgarh which is
not naxal affected-

A. Orissa
B. Uttar Pradesh
C. Maharashtra

D. Tamilnadu

49.

50.

51.

52.

SATETG | T o1 TRIT foa 82

A. 35.01%
B. 38.01%
C. 4421%
D. 43.85%

THaeaTe Afafaa 9 9 fore =t i
feramamo & gfa 27

A. T

B. AFH

C. AT

D. 39Uk @+t

BTG H [ohH gL ITH = I &
T & ferar?

A. FHIHTS

B. SHHTS
. gedfied yum

<

C
D. Tcded yeH

BATEATG T THTIAT T ST T THATIId
Tl -

A. IS

B. IW U

. HENTSE

R

C
D. dfterre

O
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53.  Who is the present Director General of 53.  iteTe o SAHH et WeTHaeTh (DGP)

Police (DGP) of Chhattisgarh? FITR?
A. Shri Abhishek Pallava A, off IR F Yoo
B. Shri Ashok Juneja B. gﬁem'ﬁms\ﬁm
C. Shrimati Millna Kurrey C. aﬁ’qa“fﬁaq‘r?ii
D. Shri Sujit Kumar D. it gsfid AR
54. How many Police Stations are there in 54. odteTe TS H foha e o &2
the state of Chhattisgarh?
A. 284 A 284
B. 428 B. 428
C. 482 C. 482
D. 824 D. 824
55. Which of the following is a musical 55. famfofiad & & & e ot arer 3 22
instrument of Kurukh?
A. "t
A. Mandar
B. Kartal B.
C. Nagara C. el
D. All of the above D. W&ot
56.  Who is the founder of “Chhattisgarhi 56. BATEATE BT Thedl Heel o LTI &-
Dehati Kala Mandal?
A THEE R
A. Ramchandra Deshmukh
B. Dular Singh Mandraji B. Wﬁg
C. Habib Tanveer C. &fiar el
D. Naik Das and Jhumuk Das D. ATEehaTd Td e
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57.

58.

59.

60.

How many agricultural produce S7.

sub-mandi and mandi are there for
systematic marketing of agricultural
produce in the state of Chhattisgarh?

A. 118 and 69
B. 69and 118
C. 108 and 60
D. 59and 108

What is the meaning of Kujur surname 8.

in “Kurukh” ethnic group?
A. Fruit Plant

B. Ornamental Plant

C. Medicinal Plant

D. Spices Plant

Netaji Subhash Chandra Bose State 59.

Police Academy is located at-
A. Mainpat

B. Chandrakhuri
C. Mana
D

. Kanker

For which related field in 2021 60.

Dr. Radheshyam Barle of Chhattisgarh
was awarded with Padma Shri award by
the Government of India?

A. Education & Literature
B. Social Work
C. Archaeology
D. Art & Music

SATETE ST H 1Y TG o6 AT
[ERLERREREI IR ICES ISR RS R LS
2?

118969
69118
108 9 60

o o w >

593 108

ST EHE o™ H o[ SO 1 T 37
37

A. AT T greT

B. el aren

C. 3fiwefia arer

D. THTe sl UteT

TS G =5, 1 T Yo STehTaHT et
o 77

A. FUC

B. =gl

C. M1
D. e

forr &7 o fow ad 2021 # st &
1. TEYIT ofTcd ohl YR TLehT g1 a7 2t
JEERR § AT feRa T

A. Trer ud difee

B. TS 1

C. JUdcd

O

D. & ud gifid
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61.

62.

63.

64.

PART-III
General Knowledge of

Computer
Default file extension of word document 61.
is-
A. .doc
B. .wrd
C. .word
D. .txt
--------- is the science that attempts to 62.

produce machines that display the same
type of intelligence that humans do

A. Nano Science

o

Nano Technology

O

Simulation

o

Artificial Intelligence (Al)

When you insert an Excel file into a 63.

Word document, the data is-

A. Hyperlinked

w

Placed in a word table
C. Linked
D. Embedded

“Help line” no. for registering complaint 64.

against Cyber Crime-
A. 100

B. 112
C. 1093
D. 1098

HII h ATHT ATTRRT

7 Siegitem ¥ fore fewiee ree wradom
T B2

A. .doc

B. .wrd

C. .word

D. .txt

e I & ST Ut ARfi o1 fomior e o
STATE AT @ SHT 3T SR i 168 FeRiq
LA & ST AT L &-

A. A fagm

B. = TSIt

C. faqerm

D. mféftefimre ffasa (vers)

WWEXCGIWW Word &IOS
aftaferd L &, al 8T —------ B 2l

A. TR

B. o€ deel H W@ T
c. fdwe

D. T=ISE

TTSeR 3hTEH o forerar & fRrepmar @t ot 3
A. 100

B. 112
C. 1093
D. 1098
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65.  Thesaurus tool in MS Word is used for- 65. ordRH (Thesaurus) I 3T JANT TH TH €

4 foreren foru foram strar 22
A. Spelling suggestions
A. @it gama
B. Grammar options
B. =TT farehed
C. Synonyms and Antonyms words
ynory y C. waigar= 3T oy vree
D. All of above D FW¥mit
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PART-IV

General Mental Aptitude T A ek araar
66. Identify the most appropriate figure that 66. O ol qU A STl HeH IUYh TN hl
completes the pattern. SR IET
@O Nl O o mO
A @A AlC @A
Al®l NI
[1|@® @
A. <> A A <> A
®] Ol
B. <> ‘ B. <> ‘
Al AR
IV c [®]A
(. 1l (. 1l
> Le > Oe
OlA OlA
67.  Find the next number in the given 67. feuw Ty sy # STt e J1a i
sequence.

11, 39, 89, 167, ? 11, 39, 89, 167, ?

A. 144 A. 144
B 295 B. 225
C. 189 C. 189
D. 279 D. 279
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68. Which letter replaces the question mark
(?) in the following figure?

6 4 [4 1

4 N[ 1L 7

5 [ul_[2] 1

6 10 [14 2
A M B. Q
C. B D. G

69. In aclass of 60 students where girls are
twice that of boys, Laxmi ranked 27"
from the top. If there are 9 boys ahead
of Laxmi, how many girls are after her

rank?

A

B.
C.
D.

70. 1dentify the figure that completes the

23

pattern.

A

E
N
C.@'
=

68. frmfciRaa sterfa # =9 &1 o7eR waETE®

foreg (2) o T T ST
6 4 [4 1
4 INT]_7
5 Ul 2] 1
6 10 |14 2
A M B. Q
C. B D. G

69. 60 BTAT shT Teh HeAT T TS TRAT shT TEAT
TSR ¥ AT €, “AEHD I § 275 T W
21 afe Ferft § 9 gk M &, A I Ik

A
B.
C.
D.

23

70. O oY I A ST STTHI FT TR

CKMY "

20202102-YAV-REC-VNW-M
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71. In acertain code, MONKEY is written
as XCHJJG. How is TIGER written in
that code?

A. SHFDQ
B. OEDCQ
C. QDFHS
D. QCDEO

72. Find out the alternative figure which
contains following figure as its part.

5
il

&

’ E]B
73. A is B’s sister. C is B’s mother. D is C’s

father. E is D’s mother. Then, how is A
related to D?

A. Grandfather

w

Grandmother

O

Daughter

©

Granddaughter

72.

73.

forefl e @ 3T MONKEY ! XCHJIG
% & o for@T STt 21 36t @hie ¥ TIGER

I 4 forar S

A
B.
C.
D.

SHFDQ
OEDCQ
QDFHS
QCDEO

I8 3TTHT 14 shiteTe, forew fmferiad

SATehIdl 36k AT o &9 7 feeft 21

5

)

&

N~

A, BRI ST C, BRI AMIRI D, C &l
far 81 E, DR AT 21 a1, A, D 9 forr
TR G 1o 87

arersit
et
et
qrdt
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74.  Which of the following Venn- diagram 74, frafafgd 9 @ o 91 A9-1 2w

correctly illustrates the relationship yeiHe’, “Brhe Raael & s H o
among ,th? Tenms’fans , ‘Cricket e

players’, ‘Students’?

A- @ A. @
NEED, NERD,

75. Find out the two signs to be 75.  frfaRaa aeferor s ad a9 & fora fom

interchanged for making following 31 Far) <A1 3119 & sTee=T 21T
equation correct:

5+3x8-12/4=3 5+3x8-12/4=3
A. +and - A, + 30—
B. —and/ B. 3/
C. +and x C. +3 x
D. +and/ o s
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76.

77.

78.

PART-V
General Mathematics

A man travels for 5 hours 15 minutes. 76.

If he covers the first half of the journey
at 60 km/h and rest at 45 km/h. Find the
total distance travelled by him.

A. 378 km
B. 270 km
C. 1028 km

D. 189 km

Find the number of years in which a 7.

certain amount of money will triple
itself with simple interest at 25% per
annum?

A. 12 years
B. 15years
C. 10years
D

. 8years

Monthly incomes of A and B are in the 78.

ratio of 4:3 and their monthly expenses
bear the ratio 3:2. If each of them saves
< 6000 at the end of the month, then the
monthly income of A is-

A. ¥ 12000
B. < 24000
C. ¥ 30000
D. % 60000

HTHT WOt

Teh SATEHT I O fhetell & SR et 5 B
15 o sht =i <htat 21 gt 2t Tee ST

ST G 60 Tehwl/SiaT ST e SA7erT
45 Tereft/eteT 6t i & 71 foram 36 o

feper SISl H ShTg EITRT 25% Sirar STemor
ST 2! L T A1 21 St

A. 1299
B. 15a%
C. 1039
D. 8oy

A TIT B o T4 ST T ST 4:3 & e
TR HTTHeh 2 T STATT 3:2 B A T
T 6000 Sfd 9Te S=TAT &, T A hY J1feh
A foRaft 22

. < 12000

A

B. 24000
C. ¥ 30000
D

. 60000
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79.

80.

81.

The speed of a boat in still water is
15km/hr and the speed of the current

iIs 5km/ hr.. The distance (in km)

travelled by the boat downstream in
15 minutes is-

A 4
B. 5
C. 6
D. 8

Which one of the following will
completely divide

(325 +3%6 1327 +328) ?
11
16
25
30

o 0 @ p

A man sold an article at a gain of 15%.
Had he sold it for ¥ 6 more, he would
have gained 18%. The cost price of the
article is-

A. %100
B. ¥ 150
C. %200

D. ¥ 250

79.

80.

81.

ST STeT 8 Teh 1 3hl TTf 15 Topei/sier B
e ey s i 5 fereieier &), ar amr
et ST YA 15 e H fehert ot
(Ferrft #) a2 o

A 4

B. 5

(325 +3%6 327 +328) fefafaa g @
forg g @ fofsia g

A 11
B. 16
C. 25

D. 30

T ek ol &g T 15% T 9 Sf=idT 2
e 36 30 T 6 3Tk T o= BT, a3
18% T AT BIdT| S Teh 98 aReq foha
TR G off?

A. X100
B. 150
C. %200

D. %250
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82. The price of sugar goes up by 20%. By 82.  =fit it hrma & 20% I Ffes T € ) <A

what percent must the consumption of Fr@ud & Fray gfaera i sweldt s st
sugar be reduced so that the expenditure R e : o
on sugar may remain the same? ’ <t o
gz 2P
A. 80%
A. 80%
B. 2
16 —%
3 B 162y
3
C. 20% C. 20%
D. 1
83-% D. 1
37" 837 %
83. 83.
The least fraction among E § 7 and 3 § 7 s 1— Y ool I = s
3’59 3'5'9
11 . wra?
J— |S_
13
AT
AT 9
9
5. 11 . u
13
C. 3 C. 3
5 5
D. 2 D. 2
3 3
84. If ratio of the areas of two similar 84. a3 wwEq B[l o & o ST 4:9
triangles is 4:9, then the ratio of their 2, AT 3k T STAT ST AT T BRTT?
corresponding sides is- ° >
A 23 A. 23
B. 32 B. 3:2
C. 4.9 C. 49
D. 94 D. 94
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85 . 85.
What is value of \/ (0,1)2 + (0,01)2 + (0.009)2

J (0.1) +(0.01)° + (0.009)> 0,002+ (00002 + 000082 T
(0.01)2 +(0.001)? + (0.0009)? AR

A. 102 A. 102

B. 10 B. 10

C o1 C. 0.1

D. 0.01 D. 0.01
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PART-VI

General Hindi T &=t
86. ‘Icshal” KT YATIATS TIee BITI- 90. T TRTHT" HETaR T 31 BRTI-
A. 28 A. TOEFAT
B. 3@ B. &M AT
C. 3cgdl C. gara
D. 3IHm® D. &I § g1
87. yHe T W I °T THH 77 91. ‘I=TE T acHH &Y BII-
A. TIEY A. SR
B. FHa™™ B. 4=
C. fgat 9= C. At
D. sgsife D. farfa
88. forT vrea H eE w9 2 92. ST H hi §T FHE 87
A. JHIER A. THRR S
B. yHfU® B. Jdefca® 55
C. ymfirs C. sHMEH
D. wmIfeR D. 599w
89. S, 3, o 3R IRUT T ©- 93.  qTft T I HETe T 3T BITI-
A. &3 A. FERTH T
B. dmeisd B. femeaa
. C. JUHT

D. H&he T ST

% .
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94. STEM’ Y162 T AW I3 2- 95.  ffereh Tm Tk S <l 3= - ATRITIT

fere ue w1 Er-
A. T
A. fersfifay
B. ARwa 8 Rt
C. & C. fmfy
D. @I D. fsfiferst
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PART-VII

General English T ST
96. Ramya is a teacher in Bharti School, 99. Read the following statements:
Surajpur. I.  Ganesh hanged the calendar.
_ Il. Ganesh hung the calendar.
Which statement would be [11. The executioner hung the
grammatically correct for her? condemned.
IV. The executioner hanged the
A. She goes to school everyday condemned.
Which of the given statements are
B. She goes to the school everyday grammatically correct?
A L&
C. She goes to a school everyday B. 1&Il
C. &IV
D. She goes to one school everyday
D. &IV
97. He lives -------- campus. 100. Until and unless, the candidate pays the
fees, his/her admission would not be
Apply the correct preposition. confirmed.
Here,
A.In A. ‘Until’ denotes condition and
‘unless’ denotes time
B. on B. ‘Until’ denotes time and ‘unless’
i denotes condition
C.  within C. Both ‘until’ and ‘unless’ denote
time
D. at ]
D. Both ‘until’ and ‘unless’ denote
condition
98. Either he or | -------- going to be the

next manager.
Apply the correct auxiliary.

A.

is

B. am
C.
D

. will be

are
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